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  Period____Date________________Graphing and Properties of Hyperbolas

Identify the vertices, foci, and direction of opening of each.
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Identify the vertices and foci of each.  Then sketch the graph.
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Identify the asymptotes, length of the transverse axis, length of the conjugate axis, length of the latus        

            rectum, and eccentricity of each.
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  Period____Date________________Graphing and Properties of Hyperbolas

Identify the vertices, foci, and direction of opening of each.
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Identify the vertices and foci of each.  Then sketch the graph.
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Identify the asymptotes, length of the transverse axis, length of the conjugate axis, length of the latus        

            rectum, and eccentricity of each.
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Conjugate Axis: 20 units
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